
1. Sam has 6 hats. Sara has twice as many. How many hats 
does Sara have? 

2. Draw a line to match these three shapes to the correct labels:

Reasoning

Grammar and punctuation

5. In a box of chocolates, there are 5 rows of chocolates, 
with 4 chocolates in each row.  
Sasha eats 3 chocolates. How many are left?
Show your working.

21       +                  =    42

64       - =   4

10   +  22  +  23   =  60 

33   - 11   - 9     =  

⅓ of 12   = 

¼  of 32   =  

3    X   9  =

10    ÷ 2   =  5      

Spellings

Arithmetic

1. pedal
2. pencil
3. copies
4. cried
5. hummed

3. There is 60ml of water in the first bottle. There is 50ml of 
water in the second bottle. How much more water is there in the 
first bottle than  the second bottle? Write your answer in the box.

1. What kind of sentence is this?   
There are twenty-seven children in our class.

 statement.
 question.
 exclamation.
 Command.

2. Tick the sentence that is correct:  

 Sara love baking cakes with me.
 Sara loves bake cakes with me.
 Sara loves baking cakes with me.
 Sara loving bake cakes with me.
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4. Here is a bag of potatoes. What might the weight of the 
potatoes be?

1kg               3cm                       4°C                    1 litr

I have some faces 
that are circles

I have some faces 
that are squares

I have some faces 
that are rectangle

ml


